The result of pivoting the simplex tableau
  x    y    u    v    M 

 -2   1     1    0     0    0
  6    4    0   -1    0    42
  1   -2    0    0    1    0

About -2 (1st row, 1st column)  is:

a)  x    y    u    v    M

    1  -1/2 -1/2  0     0   0

    0    7     3    1      0    84
    0  -3/2   ½   0     1     0 

b)   x    y    u    v     M

      1    1    1    0      0    0  

      0    4    0   -1     0    42
      0   -2    0    0     1      0

c)  x    y    u    v    M

    1 -1/2  -1/2  0     0     0

     0    7    3     1     0     42

    0  -3/2   ½    0     1      0

d)  x    y     u    v    M

     1 -1/2 -1/2   0     0     0

     6    4    0     -1     0    42

     1   -2    0     0       1     0

